
AT-B
PARTS PRICELIST 2023
The parts you will find in this overview are the most common 
parts of the AT-A. They are divided into categories. Are you 
looking for accessories or alternative parts that you cannot 
find in this overview? Please refer to the regular price list.

1/4 huka makes your world easier   www.hukabikes.com

The prices listed are postage paid in the Netherlands and exclude 9% VAT. 
The prices are valid from 1, January 2023 and replace all previous parts price lists. 
Technical changes and misprints reserved. Do you want more information? Call us: +31 (0)541-572 472.

Art.nr. Frame parts Price €

435013B Frame tube rear axle left, AT-B, blue (RAL5015) 90,00

435013R Frame tube rear axle left, AT-B, pink (RAL3014) 90,00

435015B Frame tube rear axle right, AT-B, blue (RAL5015) 90,00

435015R Frame tube rear axle right, AT-B, pink (RAL3014) 90,00

435027B Luggage carrier, AT-B, blue (RAL5015) 143,00

435027R Luggage carrier, AT-B, pink (RAL3014) 143,00

431976B Frame AT-B, blue (RAL5015) 427,00

431976R Frame AT-B, pink (RAL3014) 427,00

427143B Front fork AT-B, blue (RAL5015) 84,00

427143R Front fork AT-B, pink (RAL3014) 84,00

Art.nr. Mounting parts Price €

426811 Headset bearing 1", black 20,00

435003 Cable holder on headset 1" 5,85

431285 Chainguard left, AT-B 53,00

431286 Chainguard right, AT-B 53,00

426580L Pedal set, medium 13,50

427234 Mudguard rear 16", black 27,00

427979 Mudguard front 20", black 25,50

436108 Mounting bracket mudguard rear, AT-B 57,00

426763 Mounting bracket for mudguard front, AT-B 11,00

426582 Safety lock Axa Solid 38,50

Art.nr. Drive parts Price €

496024 Cover for Shimano Nexus 8-gear left side 9,95

427224 Crankset 32/110mm, black 53,00

431979 Differential AT-B, complete 249,00

435083 Gripshift 3-gear, Sturmey Archer 22,50

404426 Chain guide wheel for chain tensioner 10,50

480771 Chain tensioner, length 55mm (set) 3,00

432130 Sprocket 15T, freewheel 22,00

426742 Sprocket 15T Z2 8,00

401689 Sprocket 21T 3/32 10,00

431514 Ball bearing 6202 2RS 11,00

404428 O-ring rubber for chain guide wheel 1,30

426808 Bicycle chain 1/2 x 1/8, Simplex, p/mtr (0,5 m needed) rear 8,30

408058 Bicycle chain 1/2 x 3/32, galvanized, p/mtr(1 m needed) front 12,00

480844 Chain lock 1/2 x 1/8, Simplex 2,50

408059 Chain lock 1/2 x 3/32, galvanized 3,10

496050 Steel cover Shimano, with hole 16 mm 11,50

481020 Coasterbrake hub with double sprocket AT 99,00



AT-B PARTS PRICELIST 2023

huka makes your world easier   www.hukabikes.com2/4

The prices listed are postage paid in the Netherlands and exclude 9% VAT. 
The prices are valid from 1, January 2023 and replace all previous parts price lists. 
Technical changes and misprints reserved. Do you want more information? Call us: +31 (0)541-572 472.

Art.nr. Drive parts - continued Price €

411653 Bottom bracket 119 mm JIS 26,50

481065 Chain link Simplex 1/2 x 1/8 2,95

435078 Gear hub TS-RF3 freewheel, Sturmey Archer 285,00

435079 Gear hub TS-RC3 coaster brake, Sturmey Archer 366,00

435081 Gear hub TS-RC3 coaster brake back drive, Sturmey Archer 333,00

Art.nr. Brake parts Price €

405000 Bracket V-brake on front fork, AT-B, complete 91,00

406153 Parking brake, complete 58,00

408413 Brake pads Shimano V-brake 16,50

432878 Brake lever, medium, left 17,50

432879 Brake lever, medium, right 17,50

427138 Brake cable for front brake, AT-B 11,00

432622 Brake cable for rear brake, AT-B 11,00

435005 Rollerbrake Shimano front wheel 46,50

431213 Rollerbrake Shimano rear wheel 69,00

435063 V-brake pipe 90° 2,05

401528 V-brake Shimano S65T, black 50,50

427592 Rim brake set for brake lever 19,00

415443 Adjust bolt M6x34 for brake cable 1,50

Art.nr. Handlebar parts Price €

432686L Bicycle bell, for children 9,30

426827L Bicycle bell, type Decibel 11,50

433012 Handlebar grip left, black 6,40

433013 Handlebar grip right, black 6,40

490004L Handle bar AT-B, black 20,00

426806L Stem Ø22.2 mm, L=300 mm 30,50

Art.nr. Saddle and seat post Price €

427175L Saddle small, Selle Royal 26,50

445002 Seat post clamp, black 10,50

426972 Seat post, 25x350mm 11,00

Art.nr. Back support Price €

422393 Upholstery for hip support, black, skai, medium 152,00

426903 Hip fixation belt 54,00

428226 Mountingframe adapter for hipsupport, black 55,00

428373 Mountingframe for hip support, AT-B, black 68,00

428224 Extended frame adapter for pushbar, AT-B, black 55,00

410075 Insert cover 20 x 20 mm, black 0,60

410074 Insert cover 25 x 25 mm, black 0,90

413938 Insert bolt M8 x 12 0,50



AT-B PARTS PRICELIST 2023

huka makes your world easier   www.hukabikes.com3/4

The prices listed are postage paid in the Netherlands and exclude 9% VAT. 
The prices are valid from 1, January 2023 and replace all previous parts price lists. 
Technical changes and misprints reserved. Do you want more information? Call us: +31 (0)541-572 472.

Art.nr. Lighting Price €

435143 Rear light with batteries (mudguard model) 23,00

432976 Head light with batteries, Contec HI-186 33,00

401624 Mounting bracket for head light 4,25

406293 Reflector white, round 55 mm 11,00

Art.nr. Wheels Price €

436102 Rear wheel, AT-B 16'' shimano hub incl. tire 206,00

426549 Tube 16" Schwalbe DV (47-305) 8,65

401346 Tube 20" Schwalbe DV (47-406) 8,65

432673 Tire 16" Schwalbe Road Cruiser (47-305) 26,50

401339 Tire 20" Schwalbe Marathon Plus (47-406) 52,50

435095 Nippel for spoke 14G 0,10

401781 Spoke 14 x 125 mm (rear wheel) 0,90

401780 Spoke 14 x 180 mm (front wheel) 0,85

401381 Rim 16" (305) low, silver 35,50

436202 Rim 20" (406) low, silver 26,50

426530 Rim tape schwalbe, 15 mm, textile, p/rol 28,50

436104 Front wheel 20", AT-B, rollerbrake incl. tire 227,00

Art.nr. Power assist parts Price €

409853 Battery pack Heinzmann 36V - 14Ah Li-Ion 1022,00

436142 Contra plate for battery fixation, AT-B 30,50

409834 Controllerbox Direct Power Front wheel (THUN) 553,00

409836 Display Direct-Power, black 215,00

408105 Allen key 5mm with T-grip, red 11,00

436141 Clamp plate for battery fixation, A-TB 44,00

409835 Charger Direct Power 42V - 2A 135,00

436140 Mounting plate battery fixation, AT-B 44,00

431682 Spoke 14 x 95 mm 0,90

406259 Lever M8 x 16 mm 10,00

460070 Protecting rubber for clamp parking brake 1,80

409814 Bottom bracket torque sensor Thun direct power, 123 mm 302,00

436143 Front wheel 20", AT-B Direct Power incl. tire 872,00

409830 Front wheel motor 250W Direct Power, black 806,00



AT-B PARTS PRICELIST 2023

huka makes your world easier   www.hukabikes.com4/4

The prices listed are postage paid in the Netherlands and exclude 9% VAT. 
The prices are valid from 1, January 2023 and replace all previous parts price lists. 
Technical changes and misprints reserved. Do you want more information? Call us: +31 (0)541-572 472.

Art.nr. Electro parts Bafang Price €

401930L Accupack Bafang 43V 450Wh 728,00

401938 Battery charger Bafang 43V 2A 101,00

401934 Battery slider Bafang 63,50

401927 Display Bafang incl. button unit 214,00

401944 Display cable Bafang, 1100 mm 29,50

401936 Cover for controllerbox, Bafang 59,50

401926 Motor cable Bafang, 1200 mm 29,50

401920 Hub motor Bafang 43V 250W, front wheel 368,00

401929 Brake lever set Bafang, left and right 27,00

401945 Controller Bafang 43V 250W (CAN-Bus) 151,00

401946 Lock for battery slider, Bafang 34,50

401784 Spoke 13 x 122 rvs 0,85

436202 Rim 20" (406) Silver 36,50

401928 Lightning cable Bafang, 1200 mm 11,50

436144 Front wheel 20" Bafang 43V 495,00

401933 Bottom bracket with speedsensor 55,00


